EARAROBEEIERT — 2 N— IBISH —F

20195108270 (H) 9m=H14H

m 2m—2 Y5R2®% B R
[A&4£] 1 7 :400,000  ~ 2 3#&:140,000 @ ~ 3 3#%:80,000  ~ 43#&:60,000” . 5 3&:40,000 @
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o P o7, o1 1 - BaXH (50
N MECASEL o2 AAw 1(2_7)3 2-2-1-1 | 42.1 1 :1322) ﬁ%i
LTS5 TURZ BEIV=Zy IV HE EA
= 4 2 | KFAE 1:28.1 7-6-3-2 | 42.2| — 2 443 | MEEX (SH)
2 5 Frl)—-UF /R 55.0 (4) +3) ZBE#WEEE
R:FrU—979> B:FrU—-FLA2R BET 7 — L
. A ENE -08. —4-6- . — WAZE) (BH)
1 . APPE i 2 e 1(248)9 6-4-6-4 | 42.6 3 (4_426) uju%:%
A9 TI—21) FNQ> K—ILs i LS
o, = S B2 | KBRFEHR 1:29.3 1-1-2-3 | 44.0| — 4 47 | WEEEL (EH)
411 |LIPYETA2 54.0 @ L
RO—JXA A BT =YL T4 P
S 5 42 | WIETES 1:30.3 5-7-7-5 | 43.7| — 5 303 | BEMEEH (FH)
5177 INRy —5 54.0 (5) 1) A2t
RiALLTSyobl BELYIA597 s EE 45035
b 2 | B :30. -5-5- 4| - BilE— (EH)
slalg|F1ro1—2 ®2 1 B0 o R IR R TS [z
L:ErFOvY B:T79aUXAE Fif  HEER
N ZHEHL . —8-8— — =iFE— (SH)
, NN o2 20® 1.(331).2 8-8-8-8 | 43.7 8 <4+117) i?ﬁﬁﬁ*ﬁ
it —P v TIN— BRFHRAKRII e
2 | BEEX 1:33.6 3-3-4-7 |47.7| — 6 451 | BHEZ (SH)
3 o |FVUaY 54.0 (54 4) ) |BRE=
L:TLIANIVE B:T5%— =E EE
@ 1—F—@&BIEf
13=7r= 1,4,2,8,7,6,5,3
Aol=5r= 1,4,2,6,8,5,7,3
G§a=7r= 4,1,5,2,8,6,7,3
43—+ — 4,5,1,6,7,8,2,3
[ RN
B OB 4 140 714K 4-5 130H B E 4-5 180H &R 4-5-6 260M
% B 4 100 4-6 1401 | | & & 4-5 280/ | | SEE 4-5-6 640
5 1204 5-6 180M
6 1204

ABICOVWTRDTEEERROODE. TR LIV,




